
1 OF 1

I.S.-kit eco PLATE (970342) (970343) (970344) (970392)

4154400 REVB

9-2009

INTRODUCTION:  This instruction sheet covers the installation of the ECO  plate to the cutterdeck of the ZT, 
Midsize and FastCat mowers.

1.	 Attach the ECO plate as shown, using (2) 3/8-16 X 1-1/4 bolts 5 and (2) 3/8-16 nuts 6.   Tighten all fasteners 
at this time.

ITEM	 PART NO.	 DESCRIPTION		 QTY

1	 4113706.7	 ECO PLATE	 1
	 (USED ON 32 & 48 DECKS ONLY)

2	 4113705.7	 ECO PLATE	 1
	 (USED ON 36, 52 & 54 DECKS ONLY)

3	 2721336.7	 ECO PLATE	 1
	 (USED ON 42 & 61 DECKS ONLY)

4	 2721336.7	 ECO PLATE	 1
	 (USED ON 72 DECKS ONLY)

5	 64262-012	 BOLT-3/8-16 X 1-1/4	 2
6	 64268-03	 NUT-3/8-16	 2	

DECKS ONLY
ON OLD STYLE
HOLE USED

DRILL (1) 13/32" 
DIAMETER HOLE

1

5

5

6

6

HOLE USED
ON NEW STYLE
DECKS ONLY

2
3

(IF NEEDED)

4

FOR 72” DECK DRILL 
(1) 13/32” DIAMETER HOLE


